
1 of 5 

 

 

 

                ISABELLA BED               

Assembly Instructions  

 

 

 

 

 

 

 

 

 

 

 

 

 

NOTE: It will require two people to assemble this bed. Assembly should be carried out in the room that 

the bed will be used in. 

 

 

 

 

 

 

 

 

 

 

 

 

1. We suggest you spend a short time reading through this leaflet and then 

follow the simple step by step instructions. 

2. If you follow the instructions carefully the end result should be worth the effort. 

3. Do not discard any of the packaging until you have checked that you 

have all the parts and the pack of fittings. 

4. Assemble this product on a carpet. 

5. To ensure an easier assembly, we strongly advise that all fittings are only 

finger tightened during initial assembly. Only upon completion of the  

assembly should all fixing points be fully tightened. 

6. We recommend a periodic check on all fixing points to make sure they remain 

fully tightened. 

7. Keep glue and fittings out of children’s reach. 

In the unlikely event that this product has missing or damaged parts, please 

call 03442 920000 to obtain spares 

 

 

 

 spare 

Before you 

start, here 

is some 

helpful advice 

 

Minimum No. of people

 

 
 

recommended to assemble  

This product. 

Approx assembly time:  

 

1 
hour 

 



2 of 5 

Component parts and fittings contained in the box                                   
PARTS Fittings 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

A 

B 

C 

D 

E 

F 

 

 

G 

 

 

H 

 

 

I 

 

 

J 

 

K 

 

 

L 

 

 

 

 

 

 

 

 

N 

 

 

M 

 

 

Locking Nut    16pcs 

 

M8 Barrel Nut    4pcs 

M8 x80mm Bolt   4pcs 

Φ8 Washer   4pcs 

 

 

Locking Pin    16pcs 

 

 

 

 

 

 

 

Φ10Dowel    4pcs 

Φ8 Dowel  12pcs 

 

1/4″JCN Nut  4pcs 

1/4″*3/4″Bolt   4pcs 

 

M8*20 Bolt  10pcs 

 
 

Nut    2pcs 

Spanner  1pc 

4MM Allen key  2pc 

5MM Allen key  1pc 

 

1 piece 

1 piece 

2 pieces 

1piece 

2 pieces 

1 piece 

2 pieces 

2 pieces 

2 pieces 



3 of 5 

ASSEMBLY 

 

  

 

 

 

 

1) Fit wood dowels (G) into holes in the 

ends of side rails (4) and center rail (5). 

Screw Locking Pins (E) into the 

headboard panel (3). 

2) Use Locking Nuts (D) to fix the 

headboard onto side panel (4) and 

center panel (5).  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1) Assemble footboard panels (2&3) to the 

side rails (4R&4L). Secure by tightening the  

locking nuts in the same way as described in 

step 1. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

STEP 1  

STEP 2  

 

 

 

 



4 of 5 

ASSEMBLY 

 

  

 

 

1) Fit the headboard (1) to the unit. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1) Fit the mattress support rails (9) to the 

slat frame (8). 

 

 

 

 

 

 

 

 

 

 

 

1) Screw the Nut (N) onto the piston 

bracket . 

 

 

STEP 3  

STEP 4 

STEP 5 

 

 

 

 

 

 

 



5 of 5 

ASSEMBLY 

 

 

 

 

 

 

 

 

 

 

 

1) Two people carefully lower the slat frame 

onto the piston bracket . Secure by 

threading bolts (J) to slat frame on the 

piston bracket . 

. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1) Position base boards (6&7) into the bed 

frame. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

STEP 6 

 

 

STEP 7 

 



Carton Information

Carton Dimensions (CM)

H L W
Weight 

Kg
H L W

Weight 

Kg
H L W

Weight 

Kg
H L W

Weight 

Kg
H L W

Weight 

Kg
H L W

Weight 

Kg

Single

4ft

Double 9 152 120 18 6.5 194 27.8 13 14.3 204 32.7 27 9.5 194 40.3 23 13 139 101 17

King 9 167 120 20 6.5 204 27.8 15 14.3 214 32.7 29 9.5 204 44 25 13.5 154 106 20

Super King

Size

Single

4ft

Double

King 

Super King

Head End

Side Rails 

Footend 

Drawers

Feet

Centre Support Leg

Ottoman base composition

Middle Rail

part 2&4 part 6&7 part 8&9,A.I,hardware

Carton Content - Parts as per Assembly Instructions

part 1

part 1

MDF with ash veneer

Product Composition 

Size

part 3&5

part 2&4

Box 3 Box 4 Box 5

part 3&5 part 6&7 part 8&9,A.I,hardware

Particle board with ash veneer, etc…

Box 6

Box 1 Box 2 Box 3 Box 4 Box 5 Box 6

Box 1 Box 2

Plyboard, Solid ash, etc….

Solid ash, Particle board with ash veneer, etc…

Solid ash, Particle board with ash veneer, etc…


	ISABELLA DOUBLE BED -technical drawing.pdf
	ISABELLA KING BED -technical drawing.pdf
	Isabella-Assembly instruction.pdf
	Isabella-Carton Dimensions and Content.pdf



